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N.B. 1) Question No. 1 is mmpubnr}r ~< -‘"'_:___:.'? '-‘"_-"-' (i
2) Solve Any Three from remaining Five quasﬂmg S ST
3) Use of standard data book like PSG and Mahadev: s pe S €9, <2
4) Assume suitable data if necessary, gmngjmhﬁcghﬁﬂ Bl TR

K

Q1 Answer any Four from the following

I.-'F./ i i

a) How do you classify materials for engmmmg use?*
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press to be 253 m;t;.

b) Dﬁ@ﬁﬂ hst:zbn:#t ﬁfnm&?fﬁm gmsctf?he screw is at a distance of 210

mm from the mﬁar &Tﬁ of e fra aﬂiwﬁi’wmédhifor the selection of material of the
10
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Q5 a)

Q5b)

Q6 a)

Q6b)
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Two tie rods are connected by sleeve using cotter. They are subjected to an,&aial pull 20
of 50KN. Design the joint using following stresses, ' i

For rod and cotter (C-30): o, = 60 N/mm?, oc = 70 N/mm? and t = 3&me:13
sleeve (cast iron): g = 65 N/mm?, o = 100 anunz and =45 I‘?r‘mm2 i x

Design and draw a protective type of castiron ﬂang; cﬁupiing for g - . 10
transmitting 15 kW at 200 r.p.m. and hmung an allawablg shear sﬁbﬁ MPa. -

The working stress in the bolts shuufd nﬂt ex-::eed 30 MPa. %

Assume that the same material is used fer ﬁ!.aft and key a Cm];mgﬁtmss is
twice the value of its shear stress. '

The maximum torque is 25% greater than the full
The shear stress for cast iron is 14 MPa,

A helical sprmg is snbjeeted tﬂ theload arying from 500 N to 1100 N having spring 10

and G=08X 105me1112 @: )
Qﬂﬂi‘th :i‘gymfsfbl%a lﬁad of 12 KN, 15

. "29 SIEQL_

Assumc stmsses for spring material

rm,g and. fi nd out the energy stored in spring,

Design a Knuckle joi
The material of all

numbers in engineering design? 05
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